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Ci ) 3 Choose the correct alternative from the given

ones that will complete the series. / T AqHH
far T g, oW 9t 93 g7 81 flRw 71w
fAwedl & § 98 9gl fased T ST SAHAT

qT Fi<
DM,

EN, FO, ?

A) FG
C) GP

Sl
D) HP




Q.2 Statement: I

(@) Only assumption 1 is
implicit.

S AU 1 afAiza gl
(b) Neither 1 nor 2 is
implicit.

TAr 1T T & 2 siafied gl
(c) Both assumptions 1 and
2 are implicit.

1 ik 2 IEF gAY
siqfied gl

(d) Only assumption 2 is
implicit.

Ha QAT 2 qfAiea gl

The 'Swachh Bharat', keep your city clean campaign
launched by the Apartment Association has not
received much response from its residents.

AYTEHE THITATL TR IF 63T T "wa=g AT, Tu+
T M 9TE W, AMNI & I+ [AarfEar & saer
BINERIEFREERIET]

Assumption: / AT

1. Local residents do not like to keep their apartments
clean.

1. ST AT M9+ STqTEHE il 9T gl T@AT ATad|

2. The association campaign failed.

2. TATRTLr AT F TRt &l




Q.3 Select the correct combination of mathematical
signs to replace the * signs and to balance the
given equation.

* el 1 TiaeTiug s fRU 1q aeie<or i |qia
F & forw o Rt F a8l §9e &1 999
gl

14*11*22*56*8

a)+,—,=,>< b)—,X,=,+
c)+, +, =, - d) x, +, =, +




- R
‘ Q.4 Select the option that is related to
the third term in the same way as the
second term is related to the first term
and the sixth term is related to the fifth
term.
39 fAdeT &7 999 FL S qE 98 9 I
T G T8d g O T g0 92 98 9%
q Hefad g 3T 3T 9 194 98 § qaieq
2l
24 :137 ::14:7?::18 : 101
a) 87 b) 65
c) 82 d) 77
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Q.5 Which two numbers, from amongst the
given options, should be interchanged to
make the given equation correct?

feu TT gHiF<or A gal a9 & fow ] o
aeqi # 9 9 o 991 & 99 § 984T
ST ATRT? 2

825+ (24 = 6) + 17 + (5 x 8) = 127

a) 82 and 24b) 6 and 8
c)5and 17 d)5and8




term and the fourth term is related to the third term.

39 faFeq #1997 FX ST 94 95 9 It THK G9189d g

o T T 9 98 U< 9 ST AT UT e U 9

e '
NEUTRAL : NAUTREL : : PACIFIC : PICIFAC : :

LOYALTY :?

a) LTYALOY b) LOAYLTY
c) LTAYLOY d) LOYLATY
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Q.7 The second number in the given number pairs Is
obtained by performing certain mathematical
operation(s) on the first number. The same
operation(s) are followed in all the number pairs,
except one. Find that odd number pair.

fRw g wEwT AT § gEd g ugHl $e T W
IO HTHATT ek STH 6T ST 81 TF B
AT AT § T GIHRITAN T AL ST Rl

a) 537 : 15 b) 917 : 17
c) 459 :19 d) 673 : 16




Q.8 In a certain code language, 'MUSIC’ is
written as ‘LNTVRTHJBD’ and 'VIOLIN' is
written as 'UWHJNPKMHJMO'’. How will
'CHORD' be written in that language?

TF T @ @t §, 'MUSIC' =
'LNTVRTHJBD' M 'VIOLIN' T
'UWHJINPKMHJMO' & &9 ¥ fer@T ST g1 SHt
% ATT H "CHORD' ¥ for@T s ?

a) BDGPIPQSCE b) BDGINPQSCE
c) DBGINPQSCE  d) BDGINPQECS




Q.10 Which letter-cluster will replace the
question mark (?) to complete the given
series?

< TS FE@AT A QU FLT F I TIq9h
e (?) § W 9 FA 97 qU-a9g

SMTIT?
RRQZ, MADQ, ?, CSDY,
XBQP

a) HIQH

b) HLQJ

c) GYJZ

d) GJPQ




Saturday, then what was the day of
the week on 01 March 2011?
Ife 30 S 2010 T AT 9T, T

a) THa< / Monday b) FRTeraX / Tuesday
c) X9/ Sunday d) F&4EX / Wednesday
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Q.11The sequence of folding a piece of paper and the mann
in which the folded paper has been cut is shown in the
following figures. How would this paper look when
unfolded?/FTST & T ZHs il AISA FT FH AR S IE@ I |2
FITST & HET 14T g, 39 Aafarfea srafaat 7 wsfsta fhar = g
G ST 9L I DTS 4T f@1?




Q.12 How many triangles are there | in

the given flgure’?/fr TS Srhfa | fhaw

a)8 b)6 ¢)10 d)12




25 DAYS - HARD CHALLENGE (SSC)

Q.13 Select the option that is
embedded in the given figure as its
part (rotation is NOT allowed)./S®
faseq T IIT HE ST QA TS AFHAH
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Q.14 Two different positions of the
same dice are shown, the six faces of
which are numbered from 1 to 6.
Select the number that will be on the
face opposite to the one showing
'6". T Bl TTH & QT STT-3T T T
e T &, o 9 =g B w1 1 9 6
qH 3{Tehd ThaT IT g1 ST T&AT &7 T4
FL ST 6" I T F AT




25 DAYS - HARD CHALLENGE (SSC)

Q.15 Select the correct combination
of mathematical signs to replace the *
sighs and to balance the given
equation.* el Fr Iga+ X fRw 71w
T T G w9 ¥ o T
ﬁl%ﬁ‘r % H'&Pr a'éﬁrvrrr Eh'r T AN
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Q.16 If 22nd January 2011 was _
Saturday, then what was the day of the

week on 23rd January 20157
I 22 St 2011 &Y RET T, a‘r23
S 2015 Y AT FT HIT H ?

a) arfAaT</ Saturday  b) §iFwaT< / Friday
c) T4 / Monday d) <4< / Sunday




25 DAYS - HARD CHALLENGE (SSC)

Q.17 In the following question, select
the number which can be placed at
the sign of question mark (?) from the
given alternatives. / fRsrfarfaa w1 ¥,
U T At § 9 vy =g (7) F W
X ST AT ST F A

A)10 B)11
C)12 D)14




25 DAYS - HARD CHALLENGE (SSC)

Q.18 Argument / Statement : % / F97 ;
WARNING: Consumption of alcohol is
(a) Neither absolute assumption 1 injurious to health.

nor assumption 2 is implicit. JAEAl; O FT 99T @y U
T Tlfagmrr 1 97 g AT 2 UREIRC R

FA M Igd gl : : w :

(b) Only assumption 1 is implicit. Assump.tlon.s ' S

fRords weereoT | srafiRT & 1. Warning is not reqwred:

(c) Only assumption 2 is implicit. 1. IATAAT T ATTLTHAT g1 g

fords e 2 SR B 2. People who do not consume alcohol
(d) Both the assumptions are remain healthy

implicit. ' N

N —— 2. IO FT QAT AT FLA AT AN T B

gl
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Q.19 Which of the following numbers will
replace the question mark (?) in the given

number series?

Fufafaa & O 39 F 9&37 & T2 &1

gEaT #§ 7 = (?) F°r afaeniia wai?

1244, 624, 314, ?./ 5,

42.75 < 5
a) 156
b) 159
c) 155.5




25 DAYS - HARD CHALLENGE (SSC)

Q.20 Two different positions of the same
dice are shown, the six faces of which are
marked as A, B, C, D, E, F. Select the letter
that will be on the face opposite to the one
showing 'B'./T& &t 918 T I TAI-STAT
Rufaat zais 12 &, fAs sg w@+ A, B, C,
D, E, F % &7 # fRifeqa g1 S &< &7 93
< AT 'B' QAT a1l BT %ﬁﬁ>

Lo Y-
@Tﬂ'l Lot "'ﬁ [

Rglng

a)A Db)D c)C d) E




25 DAYS - HARD CHALLENGE (SS(C)

Q.21 Select the option that is related to the fifth word in the same way asthgs
second word is related to the first word and the fourth word is related to the
third word (The words must be considered as meaningful English words and
must NOT be related to each other based on the number of letters/number of
consonants/vowels in the word)
39 faed 1 999 F N ai9e Ueg | IHT AL AT g S TU A58 T8 M58 |
GETAd g T FTAT AU X 5% F GEIAq g (STsal i qreieh SHUSIt g JIAT ST
TR 3T Teq | AL il HEAT/ESAI/EAL i G&AT & AL I TH g 4
" TR & A1) '
Centre : Central : : Character : Characteristic : : Ambition : ?

1 Al 1 A : fARwar : : AgcaTwET 2

a) wgcaTwiet / Ambitious
b) fa=dt / Amusing

c) Ateha LA araAT / Astounding
d) A= / Amazing




25 DAYS - HARD CHALLENGE (SSC)

Q.22 Which letter-cluster will replace the

question mark (?) to complete the given
series?

& TS HEAT FT GRT FIA & 7T I T 8-
qqg 7 = (?) |y yiaeria F3?

DPSQ, GTXW, ?, MBHI,
PFMO

a) HWBC
b) KXDC
c) IUDE
d) JXCC




Q.23 A paper is folded and cut as shown
below. How will it appear when
unfolded?/A1= fR@TT ATET THF FIIS Tl
HIST 3T FTET SATAT gl et ST 9 I F4T

feETs M2




Q.24 Which of the following numbers
will replace the question mark (?) in
the given series?

Aatariea ® 9 S # 9&a1 & 1% SE@ar
7H q’%ﬁ'ﬁ () F TEGETOEFTN? 180
216,

a) 555
b) 559
c) 595
d) 599




25 DAYS - HARD CHALLENGE (SSC)

Q.25 In a certain code language, |

'THEORY"' is written as ‘YROEHT
and ‘OPTION'’ is written as ‘NOITPO’.
How will 'EXPERT' be written in that
language?

T fAf%a g wrer &, THEORY' &t
'YROEHT' 3fi< 'OPTION' %t 'NOITPO'
fer@T SITaT g1 S WTeT § 'EXPERT' 9
a) RTEPXE
b) TRERTE
c) TREPXE
d) TREPEX
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